Evangel (1-0-1) -vs- Ottawa (2-1-1)

2/8/2022 at Ottawa, Kan. (Alumni Park)

Score by Innings 1 2 3 4 5 H E
Evangel 0 0 0 1 1 8 0
Ottawa 1 0 0 0 0 1 0 0
Evangel 1 Ottawa 1
Player AB R H RBI BB SO LOB Player AB R H RBI BB SO LOB
M. Stone ss 3 0 1 0o 0 1 0 A. Kearney 2b 1 1 O 0O 0 O 0
J. Allcock 1b 3 0 2 1 0 O 0 Z. Butts rf 1 0 O 0o 0 1 0
A. Raley ¢/ph 2 0 1 0 0 O 0 M. Bunfill ss 2 0 O 0 0 O 0
K. Romines c 1 0 O 0O 0 O 1 H. Copeland 1b 2 0 O 1 0 O 0
S. Cummings ¢ 0O 0 O 0o 0 O 0 J. Kygar c 2 0 O 0O 0 O 1
M. Hanner 3b 3 0 1 0O 0 O 1 K. Kippes p 2 0 O 0O 0 O 0
B. Arnold dp 2 0 O 0 0 O 2 A. Serna If 2 0 O 0 0 O 0
M. Shockley rf 2 0 2 0 0 O 0 C. Faubion 3b 1 0 O 0 0 O 0
K. Russell cf 1 0 O 0o 1 0 0 C. Rasmussen ph 1 0 O 0O 0 O 0
A. Leeviraph 2b 2 0 O 0 0 O 2 R. Newbold cf 1 0 O 0 0 O 0
A. Posten If 2 1 1 0o 0 O 0 Totals 15 1 0 1 0 1 1
S. Romano p 0 0 O 0 0 O 0 SH: 7. B )
Totals 211 8 1 1 1 6 BHZ l‘ég:rr(]eil (1)
2B: A. Raley (1)
3B: J. Allcock (1)
SB: M. Shockley (2); K. Russell (1); A. Posten (1)
Evangel IP H ER BB SO WP BK HBP IBB AB BF FO GO NP
S. Romano 5.0 0 1 0 0 1 0 0 1 0 15 17 2 12 65
Totals 0 1 0 0 1 0 0 1 0 15 17 2 12 65
Ottawa IP H ER BB SO WP BK HBP IBB AB BF FO GO NP
K. Kippes 5.0 8 1 1 1 1 0 0 0 0 21 22 9 3 87
Totals 8 1 1 1 1 0 0 0 0 21 22 9 3 87

HBP: S. Romano

PB: K. Romines, J. Kygar

Umpires: Home Plate: Daniel Vega First:
Start: 3:00 PM Time: 1:21

Robert Burris



Play By Play

Evangel - Top of 1st EVA oTT

M. Stone popped up to p.

J. Allcock flied out to rf.

A. Raley doubled.

M. Hanner singled; A. Raley advanced to third.

B. Arnold lined out to If. 0 0
Runs: 0 Hits: 2 Errors: 0 Left On Base: 2
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Ottawa - Bottom of 1st EVA oTT
K. Romines to c for A. Raley. 0 0
A. Kearney hit by pitch. 0 0
Z. Butts out at first c to 2b, SAC; A. Kearney advanced to second. 0 0
M. Bunfill reached on a fielder's choice. 0 0
M. Bunfill advanced to second on a passed ball; A. Kearney advanced to third on a passed ball. 0 0
H. Copeland reached on a fielder's choice, RBI; M. Bunfill out at third ss unassisted; A. Kearney scored,

unearned. 0 1
J. Kygar grounded out to ss. 0 1

Runs: 1 Hits: 0 Errors: 0 Left On Base: 1

Evangel - Top of 2nd EVA oTT
M. Shockley singled. 0 1
M. Shockley stole second. 0 1
K. Russell lined out to cf; M. Shockley out at third cf to 2b. 0 1
A. Leeviraph flied out to cf. 0 1

Runs: 0 Hits: 1 Errors: 0 Left On Base: 0

Ottawa - Bottom of 2nd EVA oTT
K. Kippes grounded out to ss. 0 1
A. Serna grounded out to p. 0 1
C. Faubion grounded out to ss. 0 1

Runs: 0 Hits: 0 Errors: 0 Left On Base: 0

Evangel - Top of 3rd EVA oTT
A. Posten grounded out to p. 0 1
M. Stone struck out swinging. 0 1
J. Allcock tripled. 0 1
K. Romines flied out to cf. 0 1

Runs: 0 Hits: 1 Errors: 0 Left On Base: 1

Ottawa - Bottom of 3rd EVA oTT
R. Newbold grounded out to 3b. 0 1
A. Kearney grounded out to 2b. 0 1
Z. Butts struck out swinging. 0 1

Runs: 0 Hits: 0 Errors: 0 Left On Base: 0

Evangel - Top of 4th EVA oTT
M. Hanner popped up to 1b. 0 1
B. Arnold grounded out to ss. 0 1
M. Shockley singled. 0 1
M. Shockley stole second. 0 1
K. Russell walked; M. Shockley advanced to third on a passed ball. 0 1
K. Russell stole second. 0 1
A. Leeviraph lined out to 1b. 0 1

Runs: 0 Hits: 1 Errors: 0 Left On Base: 2

Ottawa - Bottom of 4th EVA oTT

M. Bunfill grounded out to 3b. 0 1



H. Copeland popped up to ss. 0 1
J. Kygar grounded out to 3b. 0 1
Runs: 0 Hits: 0 Errors: 0 Left On Base: 0

Evangel - Top of 5th EVA oTT

A. Posten singled.

A. Posten stole second.

M. Stone singled; A. Posten advanced to third.

J. Allcock singled, RBI; M. Stone advanced to second; A. Posten scored.

A. Raley pinch hit for K. Romines.

A. Raley grounded into double play ss to 2b to 1b; J. Allcock out on the play; M. Stone advanced to third.

M. Hanner popped up to 2b. 1 1
Runs: 1 Hits: 3 Errors: 0 Left On Base: 1
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Ottawa - Bottom of 5th EVA oTT

S. Cummings to c for A. Raley.

. Kippes grounded out to 3b.

. Serna flied out to cf.

. Rasmussen pinch hit for C. Faubion.

. Rasmussen grounded out to p. 1 1
Runs: 0 Hits: O Errors: 0 Left On Base: 0
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